8 7 | 6 | 4 3 2
ITEM |PART NO. DESCRIPTION QTY. WEIGHT REVISIONS
1 |PMSL.01 S-BRACKET 2 4.26 LBS N ZONE s T B
2 |PMSL.02 L-BRACKET 2 7.70 LBS
3 |SMU201601 Large Saddle Mount, 16" Tower Leg 2 22.42 LBS
4 |SMU201602 CLAMP PLATE 2 15.48 LBS
5 |GB-0520A 5/8" X 2" GALV BOLT KIT (A325) 8 0.13 LBS
6 |GWF-05 5/8" GALV FLAT WASHER 8 0.02 LBS
7 |MT38430B7 3/4" X 30" GALV Threaded Rod, Grade B7 4 3.76 LBS
8 |GWF-06 3/4" GALV FLAT WASHER 8 0.04 LBS
9 |GWL-06 3/4" GALV LOCK WASHER 8 0.01 LBS
10 |GN-06 3/4" GALV HEX NUT 8 0.02 LBS
11 |GUB-4XXX 1/2" GALV U-BOLT(SEE TABLE) 4 -
12 |MT-XXX ®4.5" O.D. X 63" Pipe (SEE TABLE) 1 -
PML-SU SERIES TABLE
PART NUMBER | PLAIN END PIPE PPE DESCRIPTION U-BOLT WEIGHT
PML-SU2-B N/A N/A GUB-4240 | 122.56 LBS
PML-SU2-72 MT-651 PLAIN END PIPE 2-3/8" OD X 72" | GUB-4240 | 144.36 LBS
PML-SU2-96 MT-651-96 PLAIN END PIPE 2-3/8" OD X 96" | GUB-4240 | 151.89 LBS
PML-SU4-B N/A N/A GUB-4456 | 124.05 LBS
PML-SU4-63 MT-653-63 PLAIN END PIPE 4-1/2" OD X 63"| GUB-4456 | 180.40 LBS
PML-SU4-96 MT-653-96 PLAIN END PIPE 4-1/2" OD X 96" | GUB-4456 | 210.69 LBS
— Y
0 1S -] (-] - j
A R
— Y
-] 1S 2 (-] - j
Germiani e | v | PMLSUSERIES
NOTES: RN I, P S B e
1. ALL METRIC DIMENSIONS ARE IN BRACKETS. PR W L R
” o= & .03 ) S
2 ) 6F(|)—[S ALOGVIYER ,I LZE”GE OEJ PA [\—Irgl_E1 6 RO U N D O F\) REMOVE BURRS AND BREAK EDGES .005 A WEALV A2 % WESTCHESTER, IL. 60154
) : DO NOT SCALE THIS PRINT SFE CHART JAIN D RIEWWEEES
8 ! 7 ! 6 4 ! 3 2 !




